



Gazi University

**Journal of Science**

PART A: ENGINEERING AND INNOVATION

<http://dergipark.org.tr/guj.1584764>

# Formulas and Finite Sums Covering Beta-type Rational Functions and Euler-Frobenius-type Polynomials

Damla GUN<sup>1\*</sup>  Yilmaz SIMSEK<sup>1</sup> 

<sup>1</sup> Department of Mathematics, Faculty of Science, Akdeniz University, Antalya, Türkiye

Keywords	Abstract
Special Numbers and Polynomials Stirling Type Numbers Generating Functions	The aim of this article is to derive some novel formulas and finite sums covering Stirling type numbers, the Frobenius Euler numbers and polynomials, the beta-type rational functions, and combinatorial numbers with the help of both generating functions and their functional equations, and also some special identities associated with special numbers and polynomials.
Cite	
Gun, D., & Simsek, Y. (2024). Formulas and Finite Sums Covering Beta-type Rational Functions and Euler-Frobenius-type Polynomials. <i>GU J Sci, Part A, 11(4)</i> , 792-800. doi: <a href="https://doi.org/10.54287/guj.1584764">10.54287/guj.1584764</a>	
Author ID (ORCID Number)	Article Process
0000-0001-6945-2468	Submission Date 13.11.2024
0000-0002-0611-7141	Revision Date 10.12.2024
	Accepted Date 14.12.2024
	Published Date 30.12.2024

## 1. INTRODUCTION

Polynomial classes are one of the indispensable fields in both mathematics and all applied sciences, especially engineering. For this reason, thousands of important studies on polynomial classes have been encountered in recent years. The motivation and subject of this article focus on special classes of polynomials. In this study, we will examine special polynomials, especially those of the Euler-Frobenius type polynomials. This class has very intensive and important applications in spline theory. Consequently, the Frobenius-Euler polynomials are also known as the Euler-Frobenius polynomials. There are those who call these polynomials Eulerian polynomials. These polynomials are known as a generalization of the well-known Euler polynomials of the first kind. These polynomials belong to the class of the Appell polynomials, which is a subclass of the well-known Sheffer polynomials within the polynomial families. Polynomial classes of this type have valuable applications in many areas of mathematics, mathematical and applied physics, theoretical and applied chemistry, and even in engineering. Moreover, novel formulas, finite sums, and relations containing these polynomial classes are given.

Let  $\zeta$  be a complex number:  $\mathbb{C}$ . The higher-order Frobenius-Euler numbers and polynomials are respectively described by,

$$\left(\frac{1-\zeta}{e^t-\zeta}\right)^\zeta = \sum_{n=0}^{\infty} \frac{H_n^{(\zeta)}(\zeta)}{n!} t^n \quad (1)$$

and

$$\left(\frac{1-\zeta}{e^t-\zeta}\right)^\zeta = \sum_{n=0}^{\infty} \frac{H_n^{(\zeta)}(x;\zeta)}{n!} t^n \quad (2)$$

(Carlitz & Sholander, 1963; Kucukoglu & Simsek, 2019).

Gun and Simsek (2023) defined the following monic polynomials, which are denoted by  $u_n^{(\zeta)}(x; \zeta)$ :

$$\left(\frac{1+\zeta}{\zeta e^t+1}\right)^\zeta = e^{-t\chi} \sum_{n=0}^{\infty} \frac{u_n^{(\zeta)}(x; \zeta)}{n!} t^n. \quad (3)$$

From (2) and (3), one has

$$u_n^{(\zeta)}(x; \zeta) - H_n^{(\zeta)}\left(x; -\frac{1}{\zeta}\right) = 0 \quad (4)$$

(Gun & Simsek, 2023).

For  $\zeta \in \mathbb{C}$  (or real number:  $\mathbb{R}$ ), the second kind  $\zeta$ -Stirling numbers are described by

$$(\zeta e^t - 1)^v = \sum_{n=0}^{\infty} \frac{v! S_2(n, v; \zeta)}{n!} t^n. \quad (5)$$

When  $\zeta=1$  Eq. (5), yields the second kind Stirling numbers:

$$S_2(n, v; 1) - S_2(n, v) = 0 \quad (6)$$

(Simsek, 2013a; 2013b; 2018a; 2018b; 2023; Srivastava, 2011; Srivastava & Choi, 2001; 2012).

The Apostol Euler numbers of order  $\zeta$  are described by

$$(\zeta e^t + 1)^{-\zeta} = \sum_{n=0}^{\infty} \frac{2^{-\zeta} \mathcal{E}_n^{(\zeta)}(\zeta)}{n!} t^n \quad (7)$$

(Luo, 2006; Gun & Simsek, 2020; Simsek, 2013a; 2013b; 2018a; 2018b; 2023; Srivastava, 2011; Srivastava & Choi, 2001; 2012).

Replacing  $\zeta$  by  $-\zeta$ , Eq. (7) reduces to the Apostol Euler numbers of negative order are described by

$$(\zeta e^t + 1)^\zeta = \sum_{n=0}^{\infty} 2^\zeta \frac{\mathcal{E}_n^{(-\zeta)}(\zeta)}{n!} t^n \quad (8)$$

and also

$$\mathcal{E}_n^{(\zeta)}(\zeta) = \sum_{z=1}^n (-1)^z S_2(n, z) \zeta^z \frac{(\zeta+1)^{-z-\zeta} (\zeta)^{(z)}}{2^{-\zeta}}, \quad (9)$$

where  $(\zeta)^{(n)}$  denotes

$$(\zeta)^{(n)} = \begin{cases} \zeta(\zeta+1) \dots (\zeta+n-1), & n \in \mathbb{N} \\ 1, & n = 0 \end{cases} \quad (10)$$

(Luo, 2006; Gun & Simsek, 2020; 2023; Srivastava, 2011; Srivastava & Choi, 2001; 2012).

The description of the beta-type rational functions  $\mathfrak{M}_{j,n}(\zeta)$ :

$$\left(\frac{z}{z+1}\right)^j = e^{t(-z-1)} \sum_{n=0}^{\infty} \mathfrak{M}_{j,n}(z) \frac{1}{n!} t^n. \quad (11)$$

From Eq. (11), we have

$$\mathfrak{M}_{j,n}(z) - z^j(1+z)^{n-j} = 0, \quad (12)$$

where  $n$  and  $z \in \mathbb{R}$ , (or  $\mathbb{C}$ ) (Simsek, 2015; 2018c).

With the aid of (4), Gun and Simsek (2023) also defined the following polynomials  $q_n(z; \zeta)$ :

$$q_n(z; \zeta) - (1+z)^n u_n^{(\zeta)}(z) = 0. \quad (13)$$

Gun and Simsek (2023) also gave the following formula:

$$q_n(z; \zeta) = \sum_{j=1}^n (-1)^j S_2(n, j) \mathfrak{M}_{j,n}(z) (\zeta)^{(n)}. \quad (14)$$

Let  $\mathbb{N}_0$  correspond to the set of nonnegative integers. For  $v \in \mathbb{N}_0$  and  $z \in \mathbb{C}$ , Simsek (2018c) described the combinatorial numbers,  $y_1(n, v; z)$ :

$$(ze^t + 1)^v = \sum_{n=0}^{\infty} \frac{v! y_1(n, v; z)}{n!} t^n \quad (15)$$

and also

$$k^n z^k - \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} y_1(n, j; z) j! = 0. \quad (16)$$

Combining Eq. (5) and Eq. (16), we have

$$S_2(k, v; z) + (-1)^{1+v} y_1(k, v; -z) = 0 \quad (17)$$

(Simsek, 2018c).

Therefore, this article is motivated to give novel formulas, finite sums, and relations containing special classes of polynomials. (Simsek, 2018a; 2018b; 2023).

## 2. FORMULAS AND FINITE SUMS COVERING BETA-TYPE RATIONAL FUNCTIONS AND COMBINATORIAL-TYPE NUMBERS AND POLYNOMIALS

We give some novel formulas and finite sums covering Stirling-type polynomials and numbers, the Frobenius Euler numbers and polynomials, the beta-type rational functions, and combinatorial numbers via not only generating functions, but also identities covering special numbers and polynomials.

**Theorem 2.1.** Let  $\zeta \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$\sum_{k=0}^{\infty} \binom{\zeta}{k} z^k \sum_{m=0}^n \binom{n}{m} u_m^{(\zeta)}(x; z) k^{n-m} - (1+z)^\zeta x^n = 0.$$

*Proof.* Using the umbral calculus convention in Eq. (3) yields, we have

$$\left(\frac{1+z}{ze^t+1}\right)^\zeta = e^{u^{(\zeta)}(x; z)t-tx}.$$

Assuming that  $|ze^t| < 1$ . Using binomial series yields, we have

$$\sum_{n=0}^{\infty} (1+z)^\zeta x^n \frac{t^n}{n!} = \sum_{k=0}^{\infty} \binom{\zeta}{k} z^k \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} u_m^{(\zeta)}(x; z) k^{n-m} \frac{t^n}{n!}.$$

Aligning the coefficients  $\frac{t^n}{n!}$  with each side completes the proof.

Substituting  $\zeta = v$  into Theorem 2.1. and combining Eq. (12) with Theorem 2.1, after performing several calculations, we get the following corollary:

**Corollary 2.2.** Let  $\zeta \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$x^n - \sum_{k=0}^{\infty} \binom{v}{k} \mathfrak{M}_{k, k-v}(z) \sum_{m=0}^n \binom{n}{m} u_m^{(v)}(x; z) k^{n-m} = 0.$$

Combining Theorem 2.1. with Eq. (4) yields, we get the following corollary:

**Corollary 2.3.** Let  $\zeta \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$(1+z)^\zeta x^n - \sum_{k=0}^{\infty} \binom{\zeta}{k} z^k \sum_{m=0}^n \binom{n}{m} k^{n-m} H_m^{(\zeta)}\left(x; -\frac{1}{z}\right) = 0.$$

Joining Eq. (16) with Theorem 2.1. after performing several calculations, we get the following corollary:

**Corollary 2.4.** Let  $\zeta \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$(1+z)^\zeta x^n + \sum_{k=0}^{\infty} \binom{\zeta}{k} \sum_{m=0}^n \binom{n}{m} u_m^{(\zeta)}(x; z) \frac{1}{k^m} \sum_{j=0}^k (-1)^{k+1-j} \gamma_1(n, j; z) \binom{k}{j} j! = 0.$$

Replacing  $z$  by  $-z$ , Corollary 2.4. reduces to

**Corollary 2.5.** Let  $\zeta, z \in \mathbb{C}$ ,  $n \in \mathbb{N}_0$ .

$$(1-z)^\zeta x^n + \sum_{k=0}^{\infty} \binom{\zeta}{k} \sum_{m=0}^n \binom{n}{m} u_m^{(\zeta)}(x; -z) \frac{1}{k^m} \sum_{j=0}^k (-1)^{1+k} S_2(n, j; z) \binom{k}{j} j! = 0.$$

**Theorem 2.6.** Let  $\zeta \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$(1+z)^\zeta x^n - \sum_{k=0}^{\infty} z^k \binom{\zeta}{k} \sum_{v=0}^k v! \binom{k}{v} \sum_{m=0}^n \binom{n}{m} S_2(m, v) u_{n-m}^{(\zeta)}(x; z) = 0.$$

*Proof.* From Eq. (3) yields, we have

$$(1+z)^\zeta \sum_{n=0}^{\infty} x^n \frac{t^n}{n!} = \sum_{k=0}^{\infty} z^k \binom{\zeta}{k} e^{tk} \sum_{n=0}^{\infty} u_n^{(\zeta)}(x; z) \frac{t^n}{n!}.$$

Thus

$$(1 + \mathfrak{z})^\zeta \sum_{n=0}^{\infty} \chi^n \frac{t^n}{n!} = \sum_{k=0}^{\infty} \binom{\zeta}{k} \mathfrak{z}^k \sum_{v=0}^k \binom{k}{v} v! \frac{(e^t - 1)^v}{v!} \sum_{n=0}^{\infty} u_n^{(\zeta)}(\chi; \mathfrak{z}) \frac{t^n}{n!}.$$

Combining Eq. (6) with above equation yields, we get

$$(1 + \mathfrak{z})^\zeta \sum_{n=0}^{\infty} \chi^n \frac{t^n}{n!} = \sum_{k=0}^{\infty} \mathfrak{z}^k \binom{\zeta}{k} \sum_{v=0}^k \binom{k}{v} v! \sum_{n=0}^{\infty} S_2(n, v) \frac{t^n}{n!} \sum_{n=0}^{\infty} u_n^{(\zeta)}(\chi; \mathfrak{z}) \frac{t^n}{n!}.$$

Hence

$$(1 + \mathfrak{z})^\zeta \sum_{n=0}^{\infty} \chi^n \frac{t^n}{n!} = \sum_{k=0}^{\infty} \mathfrak{z}^k \binom{\zeta}{k} \sum_{v=0}^k v! \binom{k}{v} \sum_{n=0}^{\infty} \sum_{m=0}^n u_{n-m}^{(\zeta)} \binom{n}{m} S_2(m, v) (\chi; \mathfrak{z}) \frac{t^n}{n!}.$$

Aligning the coefficients  $\frac{t^n}{n!}$  with each side completes the proof.

Replacing  $\mathfrak{z}$  by  $-\frac{1}{\mathfrak{z}}$  respectively, Theorem 2.6., and also combining Eq. (4) yields, we get the following corollary:

**Corollary 2.7.** Let  $\zeta, \mathfrak{z} \in \mathbb{C}$  with  $\mathfrak{z} \neq 0$  and  $n \in \mathbb{N}_0$ .

$$\chi^n (\mathfrak{z} - 1)^\zeta = \sum_{k=0}^{\infty} (-1)^k \binom{\zeta}{k} \mathfrak{z}^{\zeta-k} \sum_{v=0}^k v! \binom{k}{v} \sum_{m=0}^n S_2(m, v) \binom{n}{m} H_{n-m}^{(\zeta)}(\chi; \mathfrak{z}).$$

**Theorem 2.8.** Let  $\zeta, \mathfrak{z} \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$(1 + \mathfrak{z})^\zeta \chi^n - 2^\zeta \sum_{k=0}^n \binom{n}{k} \mathcal{E}_{n-k}^{(-\zeta)}(\mathfrak{z}) u_k^{(\zeta)}(\chi; \mathfrak{z}) = 0.$$

*Proof.* From Eq. (3) yields, we get

$$\sum_{n=0}^{\infty} (1 + \mathfrak{z})^\zeta \chi^n \frac{t^n}{n!} = (\mathfrak{z}e^t + 1)^\zeta \sum_{n=0}^{\infty} \frac{u_n^{(\zeta)}(\chi; \mathfrak{z})}{n!} t^n.$$

Thus

$$\sum_{n=0}^{\infty} (1 + \mathfrak{z})^\zeta \chi^n \frac{t^n}{n!} = 2^\zeta \left( \frac{\mathfrak{z}e^t + 1}{2} \right)^\zeta \sum_{n=0}^{\infty} \frac{u_n^{(\zeta)}(\chi; \mathfrak{z})}{n!} t^n.$$

Joining last equation with (8) yields, we have

$$\sum_{n=0}^{\infty} (1 + \mathfrak{z})^\zeta \chi^n \frac{t^n}{n!} = 2^\zeta \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} u_k^{(\zeta)}(\chi; \mathfrak{z}) \mathcal{E}_{n-k}^{(-\zeta)}(\mathfrak{z}) \frac{t^n}{n!}.$$

Aligning the coefficients  $\frac{t^n}{n!}$  with each side completes the proof.

Combining the Theorem 2.8. with Eq. (4) yields, we get the following corollary:

**Corollary 2.9.** Let  $\zeta, \mathfrak{z} \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$(1 + \mathfrak{z})^\zeta \chi^n - 2^\zeta \sum_{k=0}^n \binom{n}{k} \mathcal{E}_{n-k}^{(-\zeta)}(\mathfrak{z}) H_k^{(\zeta)} \left( \chi; -\frac{1}{\mathfrak{z}} \right) = 0.$$

Substituting  $\chi = 0$  into Theorem 2.8. and combining Eq. (13) yields, we get the following corollary:

**Corollary 2.9.** Let  $\zeta, \mathfrak{z} \in \mathbb{C}$  and  $\mathfrak{n} \in \mathbb{N}_0$ .

$$0 = \sum_{\bar{k}=0}^{\mathfrak{n}} \frac{\binom{\mathfrak{n}}{\bar{k}} \mathcal{E}_{\mathfrak{n}-\bar{k}}^{(-\zeta)}(\mathfrak{z}) q_{\bar{k}}(\mathfrak{z}; \zeta)}{(1 + \mathfrak{z})^{\bar{k}}}.$$

**Theorem 2.10.** Let  $\zeta, \mathfrak{z} \in \mathbb{C}$ . Let  $u_0(\chi; \mathfrak{z}) = 1$ .

$$(1 + \mathfrak{z})\chi^{\mathfrak{n}} - u_{\mathfrak{n}}(\chi; \mathfrak{z}) = \mathfrak{z} \sum_{\bar{k}=0}^{\mathfrak{n}} u_{\bar{k}}(\chi; \mathfrak{z}) \binom{\mathfrak{n}}{\bar{k}}; \quad (\mathfrak{n} > 0).$$

*Proof.* Substituting  $\zeta = 1$  into Eq. (3) yields, we have

$$\left(\frac{1 + \mathfrak{z}}{\mathfrak{z}e^t + 1}\right) e^{t\chi} = e^{u(\chi; \mathfrak{z})t}$$

and the umbral calculus convention and some calculation give:

$$(1 + \mathfrak{z}) \sum_{\mathfrak{n}=0}^{\infty} \chi^{\mathfrak{n}} \frac{t^{\mathfrak{n}}}{\mathfrak{n}!} = \mathfrak{z} \sum_{\mathfrak{n}=0}^{\infty} (u(\chi; \mathfrak{z}) + 1)^{\mathfrak{n}} \frac{t^{\mathfrak{n}}}{\mathfrak{n}!} + \sum_{\mathfrak{n}=0}^{\infty} u_{\mathfrak{n}}(\chi; \mathfrak{z}) \frac{t^{\mathfrak{n}}}{\mathfrak{n}!}.$$

Aligning the coefficients  $\frac{t^{\mathfrak{n}}}{\mathfrak{n}!}$  with each side completes the proof.

Substituting  $\chi = 0$  into Theorem 2.10. and using Eq. (13) yields, we get the following corollary:

**Corollary 2.11.** Let  $\zeta, \mathfrak{z} \in \mathbb{C}$  and  $\mathfrak{n} \in \mathbb{N}_0$ .

$$0 = \mathfrak{z} \sum_{\bar{k}=0}^{\mathfrak{n}} \binom{\mathfrak{n}}{\bar{k}} q_{\bar{k}}(\mathfrak{z}) (1 + \mathfrak{z})^{-\bar{k}} + q_{\mathfrak{n}}(\mathfrak{z}) (1 + \mathfrak{z})^{-\mathfrak{n}}.$$

**Theorem 2.12.** Let  $\zeta, \mathfrak{z} \in \mathbb{C}$  with  $\mathfrak{z} \neq 0$  and  $\mathfrak{n} \in \mathbb{N}_0$ .

$$\sum_{\mathfrak{m}=0}^{\mathfrak{n}} \binom{\mathfrak{n}}{\mathfrak{m}} H_{\mathfrak{m}}^{(\zeta)}\left(\chi; -\frac{1}{\mathfrak{z}}\right) H_{\mathfrak{n}-\mathfrak{m}}^{(\zeta)}\left(\chi; \frac{1}{\mathfrak{z}}\right) - 2^{\mathfrak{n}} u_{\mathfrak{n}}^{(\zeta)}(\chi; -\mathfrak{z}^2) = 0.$$

*Proof.* Replacing  $\mathfrak{z}$  by  $-\mathfrak{z}^2$  and  $t$  by  $2t$  respectively, Eq. (3) reduces to

$$\left(\frac{\mathfrak{z} - 1}{\mathfrak{z}e^t - 1}\right)^{\zeta} e^{t\chi} \left(\frac{1 + \mathfrak{z}}{\mathfrak{z}e^t + 1}\right)^{\zeta} e^{t\chi} = \sum_{\mathfrak{n}=0}^{\infty} \frac{u_{\mathfrak{n}}^{(\zeta)}(\chi; -\mathfrak{z}^2)}{\mathfrak{n}!} 2^{\mathfrak{n}} t^{\mathfrak{n}}. \quad (18)$$

Hence

$$\sum_{\mathfrak{n}=0}^{\infty} \sum_{\mathfrak{m}=0}^{\mathfrak{n}} H_{\mathfrak{m}}^{(\zeta)}\left(\chi; -\frac{1}{\mathfrak{z}}\right) \binom{\mathfrak{n}}{\mathfrak{m}} H_{\mathfrak{n}-\mathfrak{m}}^{(\zeta)}\left(\chi; \frac{1}{\mathfrak{z}}\right) \frac{t^{\mathfrak{n}}}{\mathfrak{n}!} = \sum_{\mathfrak{n}=0}^{\infty} u_{\mathfrak{n}}^{(\zeta)}(\chi; -\mathfrak{z}^2) 2^{\mathfrak{n}} \frac{t^{\mathfrak{n}}}{\mathfrak{n}!}.$$

Aligning the coefficients  $\frac{t^{\mathfrak{n}}}{\mathfrak{n}!}$  with each side completes proof.

**Theorem 2.13.** Let  $\zeta, \mathfrak{z} \in \mathbb{C}$  with  $\mathfrak{z} \neq 1$  and  $\mathfrak{n} \in \mathbb{N}_0$ .

$$2^{\mathfrak{n}} u_{\mathfrak{n}}^{(-v)}(-\mathfrak{z}^2) = \frac{(v!)^2}{(\mathfrak{z}^2 - 1)^v} \sum_{\mathfrak{m}=0}^{\mathfrak{n}} \binom{\mathfrak{n}}{\mathfrak{m}} S_2(\mathfrak{m}, v; \mathfrak{z}) y_1(\mathfrak{n} - \mathfrak{m}, v; \mathfrak{z}).$$

*Proof.* Replacing  $\zeta$  by  $-v$  and  $\chi$  by  $0$  respectively, Eq. (18) gives

$$\sum_{n=0}^{\infty} 2^n u_n^{(-v)}(-z^2) \frac{t^n}{n!} = (v!)^2 \frac{1}{(z^2 - 1)^v} \frac{(ze^t - 1)^v}{v!} \frac{(ze^t + 1)^v}{v!}.$$

Joining Eq. (5) with Eq. (15) yields, we have

$$\sum_{n=0}^{\infty} 2^n u_n^{(-v)}(-z^2) \frac{t^n}{n!} = \frac{(v!)^2}{(z^2 - 1)^v} \sum_{n=0}^{\infty} S_2(n, v; z) \frac{t^n}{n!} \sum_{n=0}^{\infty} y_1(n, v; z) \frac{t^n}{n!}.$$

Hence

$$\sum_{n=0}^{\infty} 2^n u_n^{(-v)}(-z^2) \frac{t^n}{n!} = \frac{(v!)^2}{(z^2 - 1)^v} \sum_{n=0}^{\infty} \sum_{m=0}^n S_2(m, v; z) \binom{n}{m} y_1(n - m, v; z) \frac{t^n}{n!}.$$

Aligning the coefficients  $\frac{t^n}{n!}$  with each side completes proof.

**Theorem 2.14.** Let  $\zeta, z \in \mathbb{C}$  with  $z \neq 0$  and  $n \in \mathbb{N}_0$ .

$$\frac{(z^2 - 1)^\zeta}{2^\zeta} \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{n-m}^{(\zeta)}(z) \chi^m = \zeta! \sum_{m=0}^n \binom{n}{m} u_m^{(\zeta)}(\chi; -z^2) S_2(n - m, \zeta; z).$$

*Proof.* By using Eq. (18) yields, we have

$$\frac{(z^2 - 1)^\zeta}{2^\zeta} \left( \frac{2}{ze^t + 1} \right)^\zeta e^{2t\chi} = \sum_{n=0}^{\infty} u_n^{(\zeta)}(\chi; -z^2) 2^n \frac{(ze^t - 1)^\zeta}{\zeta!} \zeta! \frac{t^n}{n!}.$$

Combining Eq. (5) with Eq. (8) yields

$$\frac{(z^2 - 1)^\zeta}{2^\zeta} \sum_{n=0}^{\infty} \mathcal{E}_n^{(\zeta)}(z) \frac{t^n}{n!} \sum_{n=0}^{\infty} \chi^n 2^n \frac{t^n}{n!} = \sum_{n=0}^{\infty} u_n^{(\zeta)}(\chi; -z^2) 2^n \frac{t^n}{n!} \sum_{n=0}^{\infty} S_2(n, \zeta; z) \zeta! \frac{t^n}{n!}.$$

Hence

$$\frac{(z^2 - 1)^\zeta}{2^\zeta} \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{n-m}^{(\zeta)}(z) 2^m \chi^m \frac{t^n}{n!} = \zeta! \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} u_m^{(\zeta)}(\chi; -z^2) 2^m S_2(n - m, \zeta; z) \frac{t^n}{n!}.$$

Aligning the coefficients  $\frac{t^n}{n!}$  with each side completes the proof.

Substituting  $\chi = 1$  into Theorem 2.14. and using Eq. (13) yields, after performing several calculations, we get the following corollary:

**Corollary 2.15.** Let  $\zeta, z \in \mathbb{C}$  with  $z \neq 1$  and  $n \in \mathbb{N}_0$ .

$$\sum_{m=0}^n \binom{n}{m} \mathcal{E}_{n-m}^{(\zeta)}(z) = 2^\zeta \zeta! \sum_{m=0}^n \binom{n}{m} \frac{(-1)^m q_m(-z^2; \zeta)}{(z^2 - 1)^{m+\zeta}} S_2(n - m, \zeta; z).$$

**Theorem 2.16.** Let  $\zeta, z \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$(z - 1)^m \chi^n = m! \sum_{k=0}^n \binom{n}{k} u_{n-k}^{(m)}(\chi; -z) S_2(k, m; z).$$

*Proof.* Replacing  $\zeta$  by  $m$  and  $z$  by  $-z$  respectively, Eq. (3) yields, we have

$$(z-1)^m \sum_{n=0}^{\infty} \chi^n \frac{t^n}{n!} = m! \sum_{n=0}^{\infty} S_2(n, m; z) \frac{t^n}{n!} \sum_{n=0}^{\infty} u_n^{(m)}(\chi; -z) \frac{t^n}{n!}.$$

Hence

$$(z-1)^m \sum_{n=0}^{\infty} \chi^n \frac{t^n}{n!} = m! \sum_{n=0}^{\infty} \sum_{k=0}^n S_2(k, m; z) \binom{n}{k} u_{n-k}^{(m)}(\chi; -z) \frac{t^n}{n!}.$$

Aligning the coefficients  $\frac{t^n}{n!}$  with each side completes the proof.

Combining the above Theorem 2.16. and Eq. (17) yields, we get the following corollary:

**Corollary 2.17.** Let  $\zeta, z \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$(1+z)^m \chi^n = m! \sum_{k=0}^n \binom{n}{k} u_{n-k}^{(m)}(\chi; z) y_1(k, m; z).$$

**Theorem 2.18.** Let  $\zeta, z \in \mathbb{C}$  and  $n \in \mathbb{N}_0$ .

$$\sum_{j=1}^k (-1)^j S_2(n, j) z^j (\zeta)^{(j)} \mathfrak{M}_{j,2j}(z) \sum_{k=0}^{j-1} \frac{1}{\zeta+k} = \frac{d}{d\zeta} \{u_n^{(\zeta)}(z)\}.$$

*Proof.* Substituting  $\chi = 1$  into Eq. (3) yields, we have

$$\left(\frac{1+z}{2}\right)^\zeta \sum_{n=0}^{\infty} \frac{\mathcal{E}_n^{(\zeta)}(z)}{n!} t^n = \sum_{n=0}^{\infty} \frac{u_n^{(\zeta)}(z)}{n!} t^n.$$

Combining the Eq. (9) and taking derivative wrt  $\zeta$  yields, we have

$$\frac{d}{d\zeta} \left\{ (1+z)^\zeta \sum_{n=0}^{\infty} \sum_{j=1}^n (-1)^j S_2(n, j) z^j \frac{(\zeta)^{(j)} t^n}{(z+1)^{j+\zeta} n!} \right\} = \sum_{n=0}^{\infty} \frac{d}{d\zeta} \{u_n^{(\zeta)}(z)\} \frac{t^n}{n!}.$$

Aligning the coefficients  $\frac{t^n}{n!}$  with each side completes the proof.

### 3. RESULTS AND DISCUSSION

The results in this paper are obtained by blending formulas, finite sums via generating functions and their functional equations methods. These results have the value of being a resource for researchers in applied sciences.

### 4. CONCLUSION

Generating functions for special numbers and polynomials covering Stirling type numbers, the Frobenius Euler numbers and polynomials, the beta-type rational functions, and also combinatorial numbers have been given. Using these functions, some novel formulas and finite sums, containing combinatorial numbers, Stirling-type numbers, the Frobenius Euler numbers and polynomials, and beta-type rational functions, have been derived.

Since these numbers and polynomials are related to spline curves, our future project is to blend the results of this paper with many different kinds of spline curves and their applications.



## AUTHOR CONTRIBUTIONS

The authors jointly prepared this article and made equal contributions.

## CONFLICT OF INTEREST

The authors declare no potential conflict of interests.

## REFERENCES

- Carlitz, L., & Sholander, M. (1963). The product of two Eulerian polynomials. *Mathematics Magazine*, 36(1), 37–41. <https://doi.org/10.2307/2688134>
- Gun, D., & Simsek, Y. (2020). Some new identities and inequalities for Bernoulli polynomials and numbers of higher order related to the Stirling and Catalan numbers. *Revista de la Real Academia de Ciencias Exactas, Fisicas y Naturales. Serie A. Matematicas*, 114(4), 167. <https://doi.org/10.1007/s13398-020-00899-z>
- Gun, D., & Simsek, Y. (2023). Modification exponential Euler type splines derived from Apostol-Euler numbers and polynomials of complex order. *Applicable Analysis and Discrete Mathematics*, 17(1), 197–215. <https://doi.org/10.2298/AADM220712011G>
- Kucukoglu, I., & Simsek, Y. (2019). Identities and relations on the q-Apostol type Frobenius-Euler numbers and polynomials. *Journal of the Korean Mathematical Society*, 56(1), 265–284. <https://doi.org/10.4134/JKMS.j180185>
- Luo, Q.-M. (2006). Apostol-Euler polynomials of higher order and Gaussian hypergeometric functions. *Taiwanese Journal of Mathematics*, 10(4), 917–925. <https://doi.org/10.11650/twj/m/1500403883>
- Simsek, Y. (2013a). Identities associated with generalized Stirling type numbers and Eulerian type polynomials. *Mathematical and Computational Applications*, 18(3), 251–263. <https://doi.org/10.3390/mca18030251>
- Simsek, Y. (2013b). Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their applications. *Fixed Point Theory and Algorithms for Sciences and Engineering*, 87. <https://doi.org/10.1186/1687-1812-2013-87>
- Simsek, Y. (2015). Beta-type polynomials and their generating functions. *Applied Mathematics and Computation*, 254, 172–182. <https://doi.org/10.1016/j.amc.2014.12.118>
- Simsek, Y. (2018a). Construction of some new families of Apostol-type numbers and polynomials via Dirichlet character and  $p$ -adic  $q$ -integrals. *Turkish Journal of Mathematics*, 42(2), 557–577. <https://doi.org/10.3906/mat-1703-114>
- Simsek, Y. (2018b). Combinatorial sums and binomial identities associated with the Beta-type polynomials. *Hacettepe Journal of Mathematics and Statistics*, 47(5), 1144–1155. <https://doi.org/10.15672/HJMS.2017.505>
- Simsek, Y. (2018c). New families of special numbers for computing negative order Euler numbers and related numbers and polynomials. *Applicable Analysis and Discrete Mathematics*, 12(1), 1–35. <https://www.jstor.org/stable/90020602>
- Simsek, Y. (2023). Generating functions for series involving higher powers of inverse binomial coefficients and their applications. *Mathematical Methods in the Applied Sciences*, 46(12), 12591–12617. <https://doi.org/10.1002/mma.9199>
- Srivastava, H. M. (2011). Some generalizations and basic (or  $q$  -) extensions of the Bernoulli, Euler and Genocchi polynomials. *Applied Mathematics & Information Sciences*. 5(3), 390–444.
- Srivastava, H. M., & Choi, J. (2001). *Series associated with the zeta and related functions*. Dordrecht: Kluwer Academic Publishers.
- Srivastava, H. M., & Choi, J. (2012). *Zeta and  $q$ -zeta functions and associated series and integrals*. Amsterdam: Elsevier Science Publishers.